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Aqgl X-1 / MJD 53720.15961 / burstid=3350

1007 ‘ =
- Grey line: exponential fit =
r Black line: power law + gauss fit 7
B Dashed line: power law i
10— -
n + _
1= =

= T T T | I T LI T T T L T T L

20 ; Exponential fit é
= Expon.time: 33.52+/- 0.36 s (chi>-red= 17.07) =
10 — + =
- 1+ E
- ' G e —3
0 — ++ ++ — =
= —+—+ =
= -+ 3
-10 E
20 4
20 ; Power law fit é
- Power law index: -1.607+/-0.047 (chi*-red= 16.10) 3
10 — E
- —+ .
- —+ =
= N ., -
0= — —t— —
C + —— 4’7:
10 e
20— E
i e i
20— Powerlaw fit plus Gaussian (st.dev.= 47.42+/- 1.41s, fracgs= 0.14+/- 0.01) =
= Power law index: -1.654+/-0.026 (chi*-red= 1.08) 3
10 — E
; ++ —+ = — | | 1 | } | ;
0 — ‘H‘+ . +++ 40740—4’7 — \ 1 I
10— E
20 4
E | I I I I | I I I I | I I I I | I I I I | I I I I | I =

0 50 100 150 200 250 300

Time [s]



